QCM DE CULTURE GENERALE

01 — La nuit de 1572 durant laquelle le roi Charles IX fit tuer de nombreux protestants est la nuit de la

A) Saint-Barthélémy
B) Saint-Jean
C) Saint-Médard

02 — En 2024, le montant de la dette francaise s’¢éléve 3 environ

A) 300 milliards d’euros
B) 3000 milliards d’euros
C) 30000 milliards d’euros

03 — A P’occasion des élections européennes du mois de juin 2024, les électeurs francais ont élu

A) 61 eurodéputés
B) 71 eurodéputés
C) 81 eurodéputés

04 — Le texte fondateur de la laicité est 1a loi du 9 décembre

A) 1905
B) 1915
C) 1925

05 — En 2024, pole emploi est devenu

A) France Travail
B) Agence Nationale Pour I’Emploi
C) Agence Francaise du Travail

06 — L’Euro 2024 (football) s’est déroulé en

A) Espagne
B) Allemagne
C) France

07 — Le Conseil constitutionnel statue sur la régularité des élections
A) municipales

B) législatives
C) européennes

08 — La Marseillaise est devenue I’hymne national de la France sous la

A) II éme République
B) III éme République
C) IV éme République

09 —Henri IV met fin aux guerres de religion par la signature de ’édit de

A) Villers-Cotteréts
B) Versailles
C) Nantes

10 — Concernant les maires, il est exact qu’ils

A) sont ¢lus pour 5 ans
B) sont officiers de police judiciaire
C) siégent au Parlement



11 — En novembre 2024, 1a COP 29 doit se tenir en

A) Géorgie
B) Arménie
C) Azerbaidjan

12 — Pour le financement de leur campagne électorale, les candidats 4 I’élection présidentielle peuvent
percevoir

A) uniquement des financements provenant de partis ou groupements politiques
B) uniquement des financements privés
C) a la fois des financements publics et privés

13 — Le régime politique instauré en France en 1795 est le

A) Préfectorat
B) Directoire
C) Consulat

14 — 11 est exact que le terme « Tsahal » désigne

A) un prétre d’Asie centrale exergant les fonctions de guérisseur
B) les forces armées de 1’Etat d’Israél
C) un monument religieux indien

15 — Complétez le 3 éme couplet de La Marseillaise « Quoi ! Ces phalanges mercenaires /
Terrasseraient nos fiers

A) fréres !
B) combats !
C) guerriers !

16 — Les opérations « place nette » ont notamment pour objectif de lutter contre

A) le trafic de stupéfiants
B) la criminalité environnementale
C) les installations illicites sur les terrains communaux ou privés

17 — L’institution chargée de juger I’administration en tant que juge administratif supréme est

A) le Conseil d’Etat
B) le tribunal administratif
C) la cour administrative d’appel

18 — 1 est exact que la prochaine élection présidentielle américaine doit se dérouler en novembre

A) 2024
B) 2025
C) 2026

19 — S’agissant de Louis XVI, il est exact qu’il a été

A) rebaptisé « Louis Capet » dans 1’acte d’accusation de son proces
B) guillotiné au palais du Louvre en 1794
C) défendu, lors de son proces, par Danton

20 — Un célébre monument parisien doit rouvrir ses portes au public en décembre 2024 aprés travaux
suite 4 un incendie, il s’agit

A) de la cathédrale Notre-Dame
B) de la basilique du Sacré-Cceur
C) du centre national d’art et de culture Georges Pompidou

21 — Gabriel Attal a succédé, a la téte du Gouvernement, 2

A) Elisabeth Borne
B) Marléne Schiappa
C) Aurore Bergé



22 — Parmi ces symboles de la République francaise, n’est pas mentionné(e) dans la Constitution du 4
octobre 1958

A) Phymne national
B) la devise « Liberté, Egalité, Fraternité »
C) le faisceau de licteur

23 — Pour assurer la sécurité maritime internationale en mer Rouge, les Etats-Unis ont lancé en
décembre 2023 I’opération

A) « Sauvetage et commerce »
B) « Mer d’huile »
C) « Gardien de la prospérité »

24 — Le Président de la République dispose de pouvoirs propres et de pouvoirs partagés. Ces derniers
nécessitent un

A) contresein ministériel
B) contreseing ministériel
C) contresaint ministériel

25 — Ont partiellement intégré I’espace Schengen au 31 mars 2024 la Bulgarie et

A) I’Islande
B) Ia Suisse
C) la Roumanie

26 — La peine de mort a été abolie en France sous la présidence de

A) Valéry Giscard d’Estaing
B) Frangois Mitterrand
C) Georges Pompidou

27 — Au Moyen Age, ’impét sur le sel est

A) la gabelle
B) la dime
C) la banalité

28 — Au Yémen, les rebelles qui menacent le trafic maritime international sont les

A) Baldis
B) Houthis
C) Forebus

29 — Décédé a 47 ans dans une prison du cercle polaire en février 2024, cet opposant russe se nommait

A) Alexei Navalny
B) Oleg Orlov
C) Mikhail Khodorkovski

30 — En vertu de P’article 24 de 1a Constitution du 4 octobre 1958, I’action du Gouvernement est
controlée par

A) le Président de la République
B) le Conseil constitutionnel
C) le Parlement

31 — Homme de confiance de Louis XIV, il encouragea le développement du commerce et de
I’industrie en France, il s’agit de

A) Necker
B) Richelieu
C) Colbert



32 — Figure de la résistance d’origine arménienne, il a fait son entrée au Panthéon en février 2024, 80
ans aprés sa mort aux cotés de son épouse également résistante, il s’agit de

A) Lévon Sayan
B) Arsen Goulamirian
C) Missak Manouchian

33 — La destitution du Président de la République est prononcée par

A) I’ Assemblée nationale
B) le Sénat
C) le Parlement réuni en Haute Cour

34 — 11 est exact qu’en 2024 sont célébrés les

A) 70 ans du RAID
B) 10 ans du SNPS
C) 50 ans du GIGN

35 — Lors du retour de la monarchie de 1814 2 1830 le drapeau francais était intégralement

A) bleu
B) blanc
C) rouge

36 — En 1534, ’explorateur Jacques Cartier cherchant un chemin vers I’Asie a découvert un nouveau
territoire

A) la Louisiane
B) le Canada
C) la Martinique

37 — Lors des Jeux Olympiques et Paralympiques de Paris, les policiers du RAID ont été équipés de
véhicules antidrones nommés

A) SKYNET
B) VADOR
C) ICARE

38 — Parmi les propositions suivantes, il est exact que

A) un sénateur peut également étre maire
B) un député peut également étre conseiller régional
C) un ministre peut également étre député ou sénateur

39 — La journée du 1° mai a été définitivement instituée comme jour férié, chomé et payé au travers
d’une loi en

A) 1928
B) 1938
C) 1948
40 — La France a adhéré a POTAN (Organisation du Traité de I’Atlantique Nord) en

A) 1929
B) 1939
C) 1949

FIN DU QUESTIONNAIRE DE CULTURE GENERALE
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CM POUR LES CANDIDATS AYANT CHOISI : ANGLAIS

(Questions numérotées de 41 a 80)

41. “How does he spell first name?” — “Z-a-c-h-a-r-y.”
A) her

B) his

C)he’s

42. Which town they come from?
A)is

B) does

C) do

43. Paul drink coffee.
A) doesn’t

B) don’t

C) never

44. The suspect at home last night.
A) weren’t

B) wasn’t

C) didn’t

45. Hi Josh, .
A) how do you do?

B) how are you?

C) how does it go?

46. John worked as a detective
A) for twenty years

B) since twenty years

C) there are twenty years

47. The victim a green suitcase.
A) was wearing
B) was carrying
C) was dressing

48. The hotel is quite far away. You’ll need to go taxi.
A)in

B) with

C) by

49. Last January a thief entered a house near the station and stole some valuable coins and two old
paintings.

The police investigated the theft and discovered an advert on-line proposing the sale of one of the
paintings.

According to the text...

A) The stolen coins were inexpensive.

B) The thief tried to sell the items in a newspaper.

C) The burglary took place early in the year.

50. Excuse me, you can’t smoke in here. This is Zone.
A) a no-smoking

B) an anti-smoking

C) a smokeless

51. They to Spain three years ago.
A) been

B) have gone

C) went



52. The Kkiller the murder weapon near the victim.
A) let

B) left

C) leaved

53. When his new job?
A) did he start

B) has he started

C) is he start

54. Travellers at the coach station reported missing items over the weekend. One traveller reported, "I
was sitting on this bench. I looked down and my briefcase was gone. My wallet was in there, my check
book, credit cards, everything." The local police suggest keeping belongings close at hand.

According to the text...

A) Travellers should be careful with their luggage.

B) Thieves targeted train passengers last weekend.

C) The victim wants to make a complaint.

55, “T think we should cancel the project.” — “No, I'm sorry, with you.”
A) I am not agreeing

B) 1 don’t agree

C) ’m not agree

56. If you could live anywhere in the world, which country 1
A) would you have chosen

B) will you choose

C) would you choose

57. Sarah needs to order some updated for her cyber unit.
A) equipments

B) equipment

C) equips

58. When David was on the metro in Paris, his wallet by a pickpocket.
A) was stolen

B) was stoled

C) was stole

59. Jeremy is new to the team. He doesn’t know yet.
A) many peoples

B) many people

C) many persons

60. The suspect next Tuesday.
A) will be judged

B) is judging

C) is judged

61. The detectives evidence at the crime scene.
A) currently gather

B) are actually gather

C) are currently gathering

62. I’'m feeling tired. I at my computer screen all morning.
A) have been staring

B) am staring

C) had stared



63. The suspect may be arrested soon, it all the results of the DNA test.
A) depends of

B) depends on

C) depends from

64. The police officers were interested speaking to the witness.
A) by

B) in

C) for

65. Description of the accident: Vehicle 1 disregarded a red traffic signal, resulting in a collision with
Vehicle 2. The impact occurred on the passenger side door of Vehicle 2. Fortunately, the collision
resulted in minor damages and both vehicles remained operational following the incident.
Remarkably, no injuries were reported from either party involved.

According to the fext...

A) The accident occurred when Vehicle 2 was hit by Vehicle 1.

B) The first vehicle was speeding at the time of the accident.

C) The crash primarily affected the second vehicle.

66. Which word is opposite in meaning to the underlined word?
The suspect was relieved to see his lawyer.

A) grateful

B) satisfied

C) worried

67. Which expression has the same meaning as the underlined expression?
Personally. I think the suspect is guilty.

A) According to me,

B) As far as I’'m concerned,

C) In my mind,

68. It took him a while, but Jack in the United States now.
A) used to live

B) used to living

C) is used to living

69. Excuse me, would you mind if I the window?
A) am opening

B) opened

C) open

70. Put the following events in the correct order:

1) The suspect is informed of the charges and brought to the police station.%
2) Officers approach the suspect and arrest him.

3) Police officers identify a suspect linked to a car theft. ).

4) The suspect is placed in a holding cell until he is questioned. §

5) Police track down the suspect's location using surveillance. ,\ N
A)2-3-5-4-1 ‘
B)3-5-2-1-4

C)5-3-4-2-1

71. The bartender of a local pub reported that a young man was drunk and verbally assaulting the
other customers. The bartender said he refused to serve the man any more alcohol. The man then
loitered outside and caused a further public disturbance. He was stumbling and appeared generally
intoxicated. The police arrived and were able to apprehend the offender, he was arrested on charges of
being drunk and disorderly.

According to the text...

A) The offender injured several customers at a local pub.

B) The offender had difficulty walking.

C) The offender was wearing dirty clothes.



72. What does the underlined expression mean?

The forensics team came across some tiny bloodstains on the ceiling.
A) went over

B) found by chance

C) checked out

73. It’s beginning to rain, I think you an umbrella with you.
A) would better to take

B) ought to take

C) should to take

74. Excuse me, could I your pen, please?
A) lend

B) borrow

C) give

75. The suspect admitted the victim.
A) to kill

B) kill

C) killing

76. The robber £10,000 worth of jewellery.
A) made out with

B) made away with

C) made up with

77. How strange! Joanna’s car is no longer in the car park. I suppose she home.
A) must have gone

B) should have gone

C) ought to have gone

78. If the thief hadn’t left his fingerprints at the crime scene, the police more difficulty
identifying him.

A) would have

B) would have had

C) will have had

79. The witness his statement in a few minutes.
A) will have finished give

B) will have finished to give

C) will have finished giving

80. Put the following events in the correct order:
1. Later that day, a search party was organized by local volunteers to comb through the woods.
2. Witnesses reported seeing a man heading into the woods alone.

3. Local police authorities initiated an investigation, gathering information about the missing person's
habits.

4. The search continued overnight using thermal imaging.

5. The missing person's family reported that they had last seen him leaving for a hike early in the
morning.

6. As dusk fell, the search efforts employed canine units.

A)532164

B)263514

C)351246

FIN DU QUESTIONNAIRE : ANGLAIS
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QCM POUR LES CANDIDATS AYANT CHOISI : ALLEMAND

(Questions numérotées de 41 a 80)

41. Woher kommen Sie?
A) in Berlin

B) aus Berlin

C) bei Berlin

42. Der Bus kommt um 16Uhr30.
A) halb vor fiinf

B) halb vier

C) halb fiinf

43. Wo kann man Brotchen kaufen?
A) beim Bicker

B) beim Metzger

C) beim Brotler

44. Im Gesicht gibt es

A) zwei Nasen und ein Auge

B) einen Mund und zwei Augen
C) zwei Ohren und zwei Nasen

45, ist es bis zum Bahnhof? 10 Minuten zu FuB.
A) Wieviel

B) Wie weit

C) Wie lange

46. Zeigen Sie mir bitte Thren
A) Ausweis

B) Buch

C) Foto

47. Das ist ein sehr schones Haus. Es gefillt
A)ich

B) mir

C) mich

48. du willst, kann ich dir helfen.
A) Als

B) Ob

C) Wenn

49. Was ist der Plural von «Mann»?
A) Manner
B) Mannes
C) Ménner

50. Hier besteht absolutes Halteverbot! Sie hier nicht parken.
A) diirfen

B) miissen

C) konnen

51. Wir fahren im Sommer nach Italien. Wir freuen uns die Ferien.
A) mit

B) zu

C) auf



52. Filme siehst du gerne ?
A) Welcher

B) Welche

C) Welches

53. Konnen Sie den Téiter beschreiben ? Was trug er ?
A) einen grauen Hut und eine blaue Jacke

B) schwarze Hosen und Kette

C) einen Regenschirm und Schuhen

54. Das Opfer gestern den ganzen Tag nicht zu Hause.
A) war

B) sein

C) ist

55. Ich habe Berlin vielen Jahren besichtigt.
A) seit

B) vor

C) es gibt

56. Frither die deutschen Polizisten griine Uniformen.
A) tragen
B) tragten
C) trugen

57. Der Polizist fragt, sie ein Messer in der Tasche hat.
A) wenn

B) ob

C) wann

58. Ich schiitze und helfe tiglich Menschen. Wer bin ich ?
A) Ich bin der Polizist.

B) Ich bin der Sanititer.

C) Ich bin der Titer.

59, Sie diirfen hier nicht rauchen. Es ist
A) erlaubt

B) verboten

C) zuldssig

60. Welches Synonym passt ?
Ein Passagier wird am Flughafen kontrolliert : sein Reisepass ist abgelaufen.
A) nicht mehr giiltig
B) gefilscht
C) notwendig

61. Die Polizisten sind mindestens zu zweit, wenn sie
A) Reise fahren

B) Strafe vergeben

C) Streife fahren

62. Welches Wort ist das Gegenteil des unterstrichenen Wortes ?
In den Grofistidten gibt es immer weniger Drogenkriminalitit.

A) haufiger

B) seltener

C) besser

63. Die Téter haben auf offener Strafie ein Kind seiner Mutter entrissen, es ins Auto gesteckt und sind
weggefahren. Um welche Straftat handelt es sich ?
A) Wegfiihrung
B) Entfithrung
C) Zuriickfiihrung
\o



64. Welcher Satz ist richtig ?

A) Gestern bei einem Einbruch in ein Juweliergeschift wurde Schmuck im Wert von 150 000 Euros
gestohlen.

B) Bei einem Einbruch in ein Juweliergeschift wurde gestern Schmuck im Wert von 150 000 Euros
gestohlen.

C) Gestern wurde Schmuck gestohlen im Wert von 150 000 Euros in einem Juweliergeschift bei einem
Einbruch.

65. Was ist die richtige Reihenfolge der Ereignisse ?

Bei einem Autounfall haben Zeugen gesehen, dafi ein Auto iiber die rote Ampel gefahren war und mit
einem anderen Auto kollidierte. Dessen Fahrer war verletzt, so daf} der Rettungswagen gerufen wurde.
Der schuldige Fahrer hatte nicht angehalten und war sofort davon gefahren.

A) Das Auto ist iiber die rote Ampel gefahren — die Autos sind kollidiert — der schuldige Fahrer ist davon
gefahren — der Rettungswagen wurde gerufen

B) Die Zeugen haben den Unfall gesehen — der Rettungswagen wurde gerufen — die Autos sind kollidiert —
der schuldige Fahrer ist davon gefahren

C) Das Auto ist iiber die rote Ampel gefahren — die Autos sind kollidiert — der Rettungswagen wurde
gerufen — der schuldige Fahrer ist davon gefahren

66. Morgen habe ich Friihschicht, gehe ich heute friih ins Bett.
A) weil

B) denn

C) deshalb

67. Welcher Satz ist richtig ?

A) Nachdem wir hatten den Titer iberwunden, konnten wir ihn mit Handschellen abfiihren.
B) Nachdem wir den Téter iiberwunden hatten, konnten wir ihn mit Handschellen abfiihren.
C) Nachdem wir den Titer iiberwunden hatten, wir konnten ihn mit Handschellen abfithren.

68. Welche Zeitformen passen ?

Die Polizei Koln um Mithilfe bei der Suche nach ;wei Frauen. Sie am
Abend einen Kiosk zu iiberfallen. Als der Verkiufer sich die Kasse zu dffnen,
die Frauen ihn mit einem Stock auf den Kopf und mit mehreren

Flaschen Spirituosen davon ;
A) hat gebeten — versuchten — weigerte — haben — geschlagen — haben - laufen
B) bittet — versuchten — weigert — sind — geschlagen — hat - laufen

C) bittet — hatten versucht — weigerte — haben - geschlagen - sind - gelaufen

69. Wie lautet der unterstrichene Satz in der Passivform ?

Am friihen Morgen haben Anwohner die Polzei gerufen, da sie laute Kniille auf der Strafie gehirt hatten.
Die Polizei fand Reste von Feuerwerkskdrpern auf der Strafie.

A) Reste von Feuerwerkskorpern werden bei der Polizei auf der StraBe gefunden.

B) Reste von Feuerwerkskorpern wurden von der Polizei auf der StraBe gefunden.

C) Reste von Feuerwerkskorpern wiirden durch die Polzei auf der StraBe gefunden.

70. Welches Wort passt ?

Wegen einer Sportveranstaltung ist die Innenstadt gesperrt, bitten folgen Sie der
A) Ausfahrt

B) Umleitung

C) Ableitung

71. Was miissen Sie nicht unbedingt im Auto dabei haben ?
A) Warndreieck

B) Getrankekiste

C) Verbandskasten

72. Ein Radfahrer ist bei einem dooring-Unfall schwer gestiirzt ; als der Krankenwagen eintraf, war er
immer noch bewufitlos.

A) Der Krankenwagen kam zu spit.

B) Der Radfahrer wurde durch eine gedffnete Autotiir zu Fall gebracht

C) Der Radfahrer hat die Tiir gedffnet.

\



73. Die Zeugen berichten, der Titer mit einem Lieferwagen
A) hat gefahren

B) sei gekommen

C) ist fahren

74. mehr wir den Verdichtigen befragen, mehr Details erfahren wir.
Ayle....... also

Bile........ desto

C)Als ...... daher

75. Bevor , waren die Titer schon weg.
A) konnte jemand die Gesichter erkennen

B) jemand konnte die Gesichter erkennen

C) jemand ihre Gesichter erkennen konnte

76. Wenn Sie eine Aufenthaltsgenehmigung méchten, miissen Sie zum
A) aufs Revier kommen
B) Auslénderbiiro gehen
C) einen Brief schreiben

77. Wir die Titer konnen, wenn wir mehr Indizien
A) hitten — ergreifen — gehabt - hitten

B) hitten — ergriffen — haben - hatten

C) wiirden — ergreifen — gehabt - hitten

78. Einige Fufiballfans kommen aus dem Stadion, als eine Gruppe von Randalierern ihnen entgegen
kommt und sie provoziert. Die beiden Gruppen beginnen eine Schligerei, wobei es bei zwei Personen zu
Blutungen am Kopf kommt.

Welches Problem wird hier beschrieben ?

A) Die Leute tragen Waffen.

B) Es handelt sich um Kérperverletzung.

C) Sie haben keine giiltigen Tickets.

79. Erginzen Sie die passenden Worter :

Als die Jugendlichen in der Disko tanzten, kam es plotzlich zu . Einige wurden

, andere mussten sich iibergeben. Der wude gerufen und viele junge Leute
wurden ins Krankenhaus zu weiteren gebracht. Nach wurde klar,
dafl jemand ihnen ins Glas geschiittet hatte.

A) Untersuchungen — bewuBtlos — Unruhen — Blutproben — Rettungsdienst - Betidubungsmittel
B) Unruhen — Blutproben — Rettungsdienst — Betdubungsmittel — bewuBtlos - Untersuchungen
C) Unruhen — bewuBtlos — Rettungsdienst — Untersuchungen - Blutproben - Betdubungsmittel

80. Die folgenden Siitze sind aus einer Zeugenaussage entnommen. Sie beschreiben den Verlauf eines

Taschendiebstahls im Stadion bei den Olympischen Spielen.

Wiihlen Sie die richtige Reihenfolge :

1. Zwei Polizeibeamte konnten den Tiiter an der Bushaltestelle festnehmen.

2. Plétzlich sahen wir, dafi er einem Besucher das Handy aus der Hosentasche 70g.

3. Wihrend des Leichtathletikwettkampfes saf3 ich mit meinem Mann in der Tribiine in der dritten Reihe.

4. Wir haben sofort versucht ihn zu stoppen und sind ihm bis zum Ausgang hintergelaufen.

5. Mein Mann hatte inzwischen die Polizei angerufen.

6. Wir bemerkten einen jungen Mann, der die Zuschauer und nicht den Wettkampf beobachtete.

A)3,6,2,4,5,1

B)6, 1,5,3.4,2
5,4,1

4
C13,6.2.5 4,

FIN DU QUESTIONNAIRE : ALLEMAND



CM POUR LES CANDIDATS AYANT CHOISI : ESPAGNOL

(Questions numérotées de 41 a 80)

41. “; Y usted, como deletrea nombre?” — “J-g-g-01-5.”
A)la
B) su
C)un

42. ; De qué ciudad 7
A) pasea

B) nace

C) viene

43. Monica _ bebe alcohol.
A) nunca

B) nadie

C) nada

44. El imputado en casa la noche pasada.
A) no estara

B) no estaba

C) no estando

45. Hola Juanito,

A) ; Cémo hay en ti?

B) { Qué hay de ti ?

C) ¢ Cuando hay para ti?

46. Rosa trabaja de enfermera en este hospital
A) desde hace veinte afios

B) hace veinte afios

C) después veinte aflos

47. La victima una maleta verde.
A) decia

B) llevaba

C) habia

48. El hotel esta situado bastante lejos del trabajo. Necesitaras ir
A) conducir

B) conducido

C) conduciendo

49. En Enero pasado, un ladrén entré en una casa cerca de la estacion y robd unos fajos de billetes y dos
cuadros antiguos. La policia investigd el caso y se di6 cuenta de que los ladrones intentaban venderlos en
sitios web.

Segiin el texto...

A) No se robo dinero en efectivo.

B) Los ladrones vendieron los objetos en mercadillos.

C) El robo tuvo lugar a principios del afio.

50. Usted no fumar, resulta muy poco saludable.
A) deberia

B) deba

C) debera

51. a Marruecos dos afios antes.
A) Fueran
B) Fuesen
C) Fueron

LW}



52. El asesino el arma del crimen cerca de la victima.
A) dejé
B) dejo
C) deja

53. No te conozco, |, trabajas en la empresa?
A) Desde cuando

B) Hasta cuédndo

C) Para cuando

54. Pasajeros sefialaron objetos perdidos durante todo el fin de semana pasado en la estacién de autobuses.
Un pasajero explico, "Estaba sentado en una banqueta cuando miré hacia el suelo y me di cuenta de que ya
no estaba mi maleta. Estaba alli mi bolso, mi ordenador, mis tarjetas de crédito, en fin, todo." La policia
local sugirié que cada pasajero se quedara con sus pertenencias en su entorno proximo,

Segiin el texto...

A) Los pasajeros deberian mostrarse mas atentos en cuanto a su equipaje.

B) Los ladrones dispararon a pasajeros del tren el fin de semana pasado.

C) La victima quiere interponer una denuncia.

55. “Pienso que deberias cancelar este proyecto.” — “No, lo siento, contigo.”
A) estoy no en acuerdo

B) no estoy de acuerdo

C) no estoy acuerdo

56. Si tuvieras la oportunidad de vivir en cualquier pais del mundo, qué pais ?
A) elegias

B) elegio

C) eligirias

57. Ana trabajaba de paisano en un grupo de investigacion antes de que se traslade a una brigada de
intervencidn ; asi que ahora, tiene que ordenar algunas nuevas de su uniforme.

A) joyas

B) prendas

C) vestidas

58. Cuando David cogi6 el metro en Barcelona, su pulsera unos carteristas.
A) se la robaron
B) les la robaron
C) la les robaron

59. Pascual es nuevo en el escuadron. Alin no conoce a
A) muy gente

B) mucha gente

C) menos gente

60. Le al imputado el martes que viene.
A) juzgaran

B) han juzgado

C) estan juzgando

61. Mira la policia cientifica en accion, evidencias en la escena de crimen.
A) dan por recogido

B) acaban de recoger

C) estdn recogiendo

62. Me siento muy cansada. la pantalla de mi computadora toda la mafiana.
A) he mirado

B) habra mirado

C) haya mirado



63. Los atracadores llevaban una pistola, a la encargada de la tienda la matarla.
A) amenazaron en

B) amenazaron con

C) amenazaron de

64. Explicaron que si ganado el gordo, se comprado esta finca de su pueblo de origen.
A) han/habian

B) hubieran/habrian

C) habran/hayan

65. Descripcidn del accidente : El primer coche colisioné con el segundo coche, porque se salto el semaforo
en rojo. El impacto del choque se ubica en la puerta trasera del segundo coche. Afortunadamente, el choque
no ocasiond muchos dafios y ambos vehiculos seguian funcionando después del accidente. Aunque sea
extrafio, nadie result6 herido.

Segiin el texto...

A) El accidente tuvo lugar cuando el primer coche chocé con el segundo coche.

B) El primer coche estaba acelerando cuando ocurrid el accidente.

C) El choque concerni6 al segundo vehiculo en primer lugar.

66. ;, Cudl es la palabra que tiene un sentido opuesto a la palabra subrayada?
El sospechoso se sinti¢ aliviado al ver a su abogado.

A) agradecido

B) satisfecho

C) inquieto

67. ; Cudl es la expresion que significa lo mismo que la expresion subrayada?
En mi opinién, pienso que el sospechoso es culpable.

A) Segtin mi,

B) A mi juicio,

C) En su mente,

68. Le costdo mucho acostumbrarse pero ahora Mateo vivir en Estados Unidos.
A)estd

B) lleva

C) suele

69. bien que juegue tu equipo favorito de balonmano, ganara el mio.
A) Por mucho

B) Por muy

C) A pesar de

70. ;Perdoname, no tengo nada para escribir, podrias tu boligrafo por favor?
A) darme

B) prestarme

C) devolverme

71. El autor confes6 haber a la victima.

A) matando

B) matado

C) matar

72. i Qué extrafio! El coche de Juana ya no esta en el aparcamiento. Supongo que a casa.

A) estaba volviendo
B) habra vuelto
C) quiera volver

73. -"; Hace tanto calor, que no aguanto mas ...
- Te un helado para refrescarte?"
A) gusta

B) apetece

C) encanta



74. Si el ladr6n no hubiera dejado sus huellas dactilares en la escena del atraco, a los policias les
habria mas identificarle.

A) dolido

B) costado

C) gustado

75. Aunque corrimos rapido en el andén, casi el tren.
A) salimos

B) faltamos

C) perdemos

76. "En la altima cumbre climética celebrada en Glasgow, los lideres mundiales se reunieron para abordar la
crisis climatica y establecer compromisos para reducir las emisiones de gases de efecto invernadero. Se
discutieron medidas urgentes para limitar el calentamiento global y proteger el medio ambiente."

;Cudl es el tema principal del articulo que acaba de leer sobre la actualidad?

A) Los desafios de la inmigracion en Europa.

B) El aumento de la temperatura global.

C) El impacto econémico de la pandemia del COVID-19.

77. Una de las 4reas mas impactadas por la tecnologfa es la comunicacién. Plataformas de redes sociales,
aplicaciones de mensajeria instantinea y herramientas de videoconferencia han revolucionado la forma en
que nos conectamos con los demds. Ahora, podemos comunicarnos al instante con personas de todo el
mundo, compartir informacién de manera ripida y colaborar en proyectos sin importar la distancia fisica.
¢ Cual es uno de los principales impactos de la tecnologia en la comunicacion segiin el texto?

A) Permitir la comunicacion instantinea a nivel global.

B) Facilitar la colaboracion en proyectos locales.

C) Limitar la informacién a nivel regional.

78. "La labor policial es fundamental para mantener el orden y la seguridad en la sociedad. Los agentes
trabajan en la prevencion y resolucién de delitos, garantizando el cumplimiento de las leyes. Ademads de su
funcién de proteccién, la policia también colabora en la mayoria de las situaciones de emergencia y en la
gestién del trafico.”

;, Cual es la actividad principal de la policia?

A) Investigar sobre crimenes sociales

B) Acudir a intervenciones urgentes

C) Colaborar con la policia local

79. "La salud priblica se basa en la prevencién y promocion del bienestar de la poblacion. La vacunacion, la
educacion sanitaria v la atencién primaria son pilares fundamentales. En tiempos de pandemia, es crucial la
colaboracion entre autoridades sanitarias y ciudadanos para contener la propagacion de enfermedades y
proteger la salud colectiva.”

¢ Cuél es el elemento fundamental para permitir una prevencion eficaz de una pandemia?

A) Que se vacune a todos los ciudadanos

B) Que la poblacién aumente los gestos de bienestar

C) Que los médicos y pacientes actien juntos.

80. "La conservacién del medio ambiente es crucial para el bienestar del planeta y de las generaciones
futuras. La deforestacion, la contaminacién y el cambio climético son amenazas graves que enfrentamos. Es
imperativo tomar medidas como la proteccion de los bosques, el uso sostenible de recursos y la promocién
de energias renovables." Elija la frase que més corresponde con la idea principal del texto.

A) Usar recuperadores de agua y aerogeneradores ayudara a mantener el planeta.

B) Enfrentarse con pandemias impedira que se desarollen las generaciones futuras.

C) Renovar los bosques y los arboles es el tinico recurso posible para salvar la tierra.

FIN DU QUESTIONNAIRE : ESPAGNOL
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